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L limx"™ a9 (2o (b)-o (c)e (d)1/e (e)does not exist

x=>1

x 3
2. lirr;:x—33=? @2 O)In2 (©n3 (@202 (e)3In3
X _x
. imEE X @0 w12 @1 @32 (62
=0 x-sinx

4 I F)=fle™dt thenF'(x)=2 (@) [ -2x% " dl (b) - 250%™

x4 —x¥? —x? —x2? —xlg? X e y?
(c)e -j:thze Tdr (dye —J:thze “dt (e)-2xtle™" -, 2xt%e™" dt

5. The derivative of y" with respect to y* is

(a) g— y©7Oymy™ (0)3my™ - (d)3my™  (e) does not exist
| 6. The minimal point ofy = e™" Sinx is (a) 7 /4 O3 (/2. d)Sn/4 (e)4rn/3
7. ﬁ:’ e cosxdx =7 @13 ®)12 (©)-12 ()1 ()

8. ﬂ'/ztanzgdx =? @1 (2 (©I-12 (d)2-12 (e)3

9. Thearclength of the curve y = -g-xm fromx =3 to x=8 is

(@12 (b)38/3 (c)4053 (d)14 (e) 44/3
10. The region R enclosed by the curves y=x and y=x’ is rotated about x-axis, the
volume of the resulting solid is (a) 7 /15 (b) 2215 (©n/s (d4rxNs (e)n/3
1. The area enclosed by one loop of the four-leaved rose r = cos26 is

@rn/8 @®r4 @3 Az () =

2

12, ;,—zy;-ofthe function x** +y*® w8 i5

4 4 4 4 4
() 3x4/3y1/3 (b) 3x1/3y4/3 © 3x2/3y:/3 (d) 3x,,3y1,3 (e 3x4,3y4,3
3 5 7
13. f(x)= x+f3-+"?+x7+.... sthen f(x)=7 (@) (e* +e™)/2  (b)(e" -~e™)/2

©)[In(l + x) = In(1 - x3]/2 (@ [In(1+x)+In(1-x)]/2  (e)(cosx +sinx)/2
14 Let f(x)=x*~x, a=0 and =2 the number ¢ that satisfies the conclusion of mean

valuetheoremis (@)1/¥3  (®)2/v3 (V3 (@1/V2 (V2

15. (i) 2% (i) 2——-—————“"”;“"‘1 (iii) i(—l)” In

n . .
—«7—_ which of the above series
n

converges? (a)iandii (b)iandiii (c)iiandiii (d)i,ii and iii (e) none of them
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1. LetF(y)-j:sin(xy)dx,fmdF'(y) (10%)

2. Find the shortest distance from a given point (0,a) , a>0,tothe parabolax® =4y
(10%)
3. Given T'(m) = j:x’”"e"‘dx and T(1/2) = 7 , find
(a)ﬂwe-a’x’dx ®)E(X 2») _ﬂ”x‘.’ne-a"x’dx () E(X 2n+1) .£°x2n¢le—a’x’dx

(dVar(Xy=E(X*)-(EX)* (12%)

&

Prove that if f(x) is a continuous function then
@ [;/(dx = [ fla-x)de  (3%)

/2 in”
(b) Use part (a) to show that j: -.—”S;-Il—x”—dx = % (5%)
sin cos " x
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